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170=α+β*70 (1) 
130=α+β*80 (2)
(1-2): 40=-10*β → β=-4
                              α=450

Qd=450-4*P

Γραμμική Ζήτηση:
Qd=α+β*P
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Qd=450-4*P

Qd=450-4*40=290
(Qd-Qs)=200 →     
       290-Qs=200→
                Qs=90
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Qd=450-4*P

90=γ+δ*40 (1) 
130=γ+δ*80 (2)
(2-1): 40=40*δ → δ=1
                             γ=50

Qs=50+P

Γραμμική Προσφορά:
Qs=γ+δ*P

Ζήτηση

Νέα Προσφορά
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Qd=450-4*P

Qs’=50+P

170=γ+δ*70
→ 170 = γ + 70 → 
γ=100   (δ=1)

Qs=100+P
Αρχική Προσφορά
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Αρχική Προσφορά

Ζήτηση

Νέα Προσφορά
Pk=;

90=450-4*Pk →
4*Pk=360→ 
Pk=90

 (90-40)=50→καπέλο


